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COST ACCOUNTING–I

Paper–503

Semester–V

Time Allowed : 3 Hours] [Maximum Marks : 70

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

10 marks each and the entire Section C

consisting of 10 short answer type questions

carrying 3 marks each.

R

SECTION—A

1. Describe the different types of Material losses. How

is material loss treated in accounting? What is

normal material loss? Explain the various losses

in cost accounting. 10

2. Describe the meaning of Purchasing and Purchase

Control. What is a purchase control system? What

is material pricing? What is FIFO and LIFO method

of issue of material pricing? 10

3. From the following particulars prepare a statement

of Cost and Profit : 10

Raw materials consumed `80,000

Direct wages `50,000

Machine hours worked 10,000 hours

Machine hour rate `2 per hour

13558/NJ/741/W/9,810 [P. T. O. 13558/NJ/741/W/9,810 2



Office overheads 20% on works cost

Selling overheads `2 per unit sold

Units produced 10,000 units

Units sold 9,000 units at `25

per unit

4. Following information is available with respect to

a particular type of Labour : 10

(i) Monthly Salary :

(a) Basic pay I `2,000.

(b) DA 75% of Basic Pay.

(ii) House Rent Allowance `1,400 per month.

(iii) Leave salary earned `13,500.

(iv) CCA `  200 per month.

(v) Interim relief 10% of Basic + DA.
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(vi) Employer’s contribution to PF 5% of Basic +

DA.

(vii) Employer’s contribution to ESI 2% of Basic

+ DA.

(viii) Pro-rata expenses on amenities `25 per

month.

(ix) Number of working hours in a month 200

hours.

Calculate the Cost of Labour per day of 8 hours.

SECTION—B

5. (a) What is Labour turnover? What are main

causes of labour turnover? What is the formula

of labour turnover? What is a good labour

turnover? 5

(b) What is purpose of Labour cost control? What

are the steps of cost control system? 5
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6. (a) What are the essentials of a sound Wage

incentive plan? What are the attributes of

wage? How do you calculate piece rate? 5

(b) Why Taylor introduced different rate of Wage

payment for those who performed above and

below standard performance? 5

7. In respect of a factory the following figures have

been obtained for the year : 10

Cost of Materials `6,00,000

Direct wages `5,00,000

Factory overheads `3,00,000

Administrative overheads `3,36,000

Selling overheads `2,24,000

Distribution overheads `1,14,000

Profit `4,20,000
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A work order has been executed and the following

expenses have been incurred :

Materials `8,000

Wages `5,000

Assuming that in 2020, the rate of factory

overheads have increased by 20%. Distribution

overheads have gone down by 10% and selling

and administration overheads have each gone up

by 12%. At what price should the product be sold

so as to earn the same rate of profit on the selling

price as in last year.

Factory overheads is based on direct wages while

all other overheads based on factory cost.
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8. Compute machine hour rate from the following

Data : 10

Cost of Machine `1,00,000

Installation `10,000

Estimated scrap `15,000

after 15 years

Repairs and maintenance `1,000

for the machine per annum

Power consumption 10 units

per hour.

Rate of Power per 100 units `20

Shop Supervisor’s salary `600

per month

Estimated productive working hours 2000

hours p.a.

The machine occupies ¼ of the total area of the

shop. The supervisor is expected to devote 1
5  of

his time for supervising this machine.

SECTION—C

9. Attempt any ten parts of the following :

10×3=30

(i) What are the limitations of Financial

accounting?

(ii) Explain the main functions of Cost accounting.

(iii) Explain the main advantages and limitations

of Cost accounting.

(iv) ABC Company Ltd. gives the following details

about the material X. Monthly consumption

200 units, Average cost per order 700.

Average price per units 25, holding cost 16%

per year. Determine Economical Order

Quantity (EOQ).
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(v) From the following particulars, calculate

Reorder Level :

Maximum consumption 150 units per day

Minimum consumption 50 units per day

Reorder period 25-30 days.

(vi) An  item can be bought from the market at

`47 per item. The same can be made in the

plant with manufacturing Data as below :

Total material consume for 100 items with

the production cost of `4,500 and 10%

produced units are rejected.

Conclude the items should be produced or

procured from the market.

(vii) Explain the various classifications of

Overheads. Describe the important features

of Production Overhead.

(viii) Explain Fringe benefits and its main types.

Are fringe benefits parts of Salary?

(ix) Explain the Depreciation. How will you

calculate it?

(x) A Businessman takes out a `2,50,000

mortgage from the Bank and the Loan

agreement stipulates that the interest rate

on the Loan is 6%. Find the total amount

to  be paid to the from the Bank after 20

years.

(xi) ABC limited produces a product X and

uses  labour hours  to  assign the

manufacturing overhead cost .  The

estimated manufacturing overhead was

`1,50,000 and the estimated labour hours

involved were 1,200 hours. Compute a

predetermined overhead rate.
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(xii) A particular business may assign or budget

`25,000 for Face book advertising, `26,000

for Google Advertising and may be `13,000

for TV and Radio advertising all in a one-

year advertising budget. Find the Advertising

cost the company.

PUNJABI VERSION

n otn otn otn otn ot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy

hryk pRSn dy 10 AMk hn[ Bwg C swrw kro[ ies

ivc 10 sMKyp au~qr vwly pRSn lwjmI hn Aqy

hryk pRSn dy 3 AMk hn[

BwgBwgBwgBwgBwg—A

1. v`K-v`K iksmW dy pdwrQk nukswnW dw vrxn kro[

lyKwkwrI iv`c sm`grI dy nukswn dw ielwj ikvyN

kIqw jWdw hY? sDwrn sm`grI dw nukswn kI hY?

lwgq lyKwkwrI iv`c v`K-v`K nukswnW dI ivAwiKAw

kro[ 10

2. KrIddwrI Aqy KrId inXMqrx dy ArQ dw vrxn

kro[ KrId inXMqrx pRxwlI kI hY? sm`grI dI

kImq jwrI krn dI FIFO Aqy LIFO ivDI kI

hY? 10
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3. hyTW id`qy vyrivAW qoN lwgq Aqy lwB dw ibAwn

iqAwr kro: 10

k`cy mwl dI Kpq `80,000 hY

is`DI mzdUrI `50,000

mSIn ny 10,000 GMt kMm kIqw

mSIn GMty dw ryt  `2 pRqI GMtw

dPqr kMm dI lwgq 'qy 20% EvrhY~f krdw hY

EvrhY~f `2 pRqI XUint vyc irhw hY

XUintW ny 10,000 XUint dw auqpwdn kIqw

`25 pRqI XUint dy ihswb nwl 9,000 XUint vycy gey

4. iksy Kws iksm dI ikrq dy sbMD iv`c hyT ilKI

jwxkwrI auplbD hY:

(i) mhInwvwr qnKwh

(a) mUl qnKwh I `2,000.

(b) mUl qnKwh dw 75% fI.ey.

(ii) mkwn ikrwieAw B`qw `1,400 pRqI mhInw[

(iii) Cu`tI qnKwh `13,500 pRwpq kIqI[

(iv) CCA `  200 pRqI mhInw[

(v) byisk + fIey dw 10% AMqirm rwhq[

(vi) byisk + DA dy 5% PF iv`c ruzgwrdwqw dw

Xogdwn[

(vii) byisk + DA dy ESI 2% iv`c ruzgwrdwqw dw

Xogdwn[

(viii) shUlqW 'qy Anupwq Krcy `25 pRqI mhInw[

(ix) ie`k mhIny iv`c kMm krn dy GMitAW dI igxqI

200 GMty[

8 GMitAW dI pRqI idn mzdUrI dI lwgq dI gxnw

kro[ 10
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BwgBwgBwgBwgBwg—B

5. (a) lybr trnEvr kI hY? lybr trnEvr dy mu`K

kwrn kI hn? lybr trnEvr dw PwrmUlw kI

hY? ie`k cMgw lybr trnEvr kI hY? 5

(b) ikrq lwgq inXMqrx dw audyS kI hY? lwgq

inXMqrx pRxwlI dy kdm kI hn? 5

6. (a) ie`k cMgI qnKwh pRoqswhn Xojnw dy zrUrI kI

hn? mzdUrI dy gux kI hn? qusIN pIs ryt dI

gxnw ikvyN krdy ho? 5

(b) tylr ny imAwrI pRdrSn qoN au~pr Aqy hyTW

pRdrSn krn vwlIAW leI qn^wh Bugqwn dI

v`KrI dr ikauN pyS kIqI? 5

7. ie`k PYktrI dy sbMD iv`c swl leI hyT ilKy AMkVy

pRwpq kIqy gey: 10

sm`grI dI kImq `6,00,000

is`DI mzdUrI `5,00,000

PYktrI EvrhY~f `3,00,000

pRbMDkI EvrhY~f `3,36,000

EvrhY~f nUM vycxw `2,24,000

ifstRIibaUSn EvrhY~f `1,40,000

lwB `4,20,000

ie`k vkr Awrfr lwgU kIqw igAw hY Aqy hyTW id`qy

Krcy kIqy gey hn:

sm`grI Awr.AYs. `8,000

mzdUrI `5,000

ieh mMndy hoey ik 2020 iv`c, PYktrI EvrhY~f dI dr

iv`c 20% dw vwDw hoieAw hY[ ifstRIibaUSn EvrhY~f

10% G`t gey hn Aqy ivkrI Aqy pRSwsn EvrhY~f

hr ie`k 12% v`D gey hn[ auqpwd nUM iks kImq 'qy

vyicAw jwxw cwhIdw hY, qW ik ivkrI kImq 'qy ipCly

swl dI qrHW hI lwB dI dr pRwpq kIqI jw sky?

PYktrI EvrhY~f is`DI mzdUrI 'qy ADwrq hn jdoN ik

bwkI swry EvrhY~f PYktrI lwgq 'qy ADwrq hn[
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8. hyTW id`qy fytw qoN mSIn GMty dI dr dI gxnw

kro: 10

mSIn dI lwgq `1,00,000

ieMstwlySn `10,000

Anumwinq skRYp 15 swl bwAd `15,000

mSIn dI murMmq Aqy

r`K-rKwA pRqI slwnw `1,000

ibjlI dI Kpq 10 XUint

pRqI GMtw ibjlI dI

dr pRqI 100 XUint `20

dukwn suprvweIzr dI

qnKwh pRqI mhInw Anumwinq

auqpwdk kMm dy GMty 2,000 GMty p.a. `600

mSIn dw kbzw hY[

dukwn dy ku`l Kyqr dw ¼ suprvweIzr dI aumId hY

ies mSIn dI ingrwnI leI Awpxw 1
5  smW smripq

krn leI[

BwgBwgBwgBwgBwg—C

9. hyT iliKAW iv`coN iksy 10 'qy sMKyp not ilKo :

10×3=30

(i) iv`qI lyKw-joKw dIAW sImwvW kI hn?

(ii) lwgq lyKwkwrI dy mu`K kwrjW dI ivAwiKAw

kro[

(iii) lwgq lyKwkwrI dy mu`K PwieidAW Aqy sImwvW

dI ivAwiKAw kro[

(iv) ABC kMpnI ilimtyf sm`grI X bwry hyTW

id`qy vyrvy idMdI hY[

mhInwvwr Kpq 200 XUint, AOsq lwgq pRqI

Awrfr 700[ AOsq kImq pRqI XUint 25,

holifMg lwgq 16% pRqI swl[ AwriQk Awrfr

mwqrw (EOQ) inrDwirq kro[
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(v) hyTW id`qy vyrivAW qoN, rIAwrfr lYvl dI

gxnw kro:

v`D qoN v`D Kpq 150 XUint pRqI idn

G`to-G`t Kpq 50 XUint pRqI idn

rIAwrfr dI imAwd 25-30 idn[

(vi) koeI vsqU bzwr qoN 47 rupey pRqI AweItm dy

ihswb nwl KrIdI jw skdI hY[ hyTW id`qy

Anuswr inrmwx fytw dy nwl plWt iv`c vI

iehI bxwieAw jw skdw hY:

4,500 dI auqpwdn lwgq dy nwl 100 vsqUAW

leI ku`l sm`grI dI Kpq Aqy 10% auqpwidq

XUintW nUM r`d kr id`qw igAw hY

is`tw k`Fo ik vsqUAW pYdw kIqIAW jwxIAW

cwhIdIAw hn jW bwzwr qoN KrIdIAW jwxIAW

cwhIdIAW hn[

(vii) EvrhY~fW dy v`K-v`K vrgIkrn dI ivAwiKAw

kro[ auqpwdn EvrhY~f dIAW mh`qvpUrn

ivSySqwvW dw vrxn kro[

(viii) PirMj dy lwB Aqy ies dIAW mu`K iksmW bwry

d`so[ kI PirMj lwB qnKwh dy ih`sy hn?

(ix) GtwE dI ivAwiKAw kro[ qusIN ies dI gxnw

ikvyN krogy?

(x) ie`k vpwrI bYNk qoN 2,50,000 rupey dw igrvInwmw

lYNdw hY Aqy krzy dy iekrwrnwmy iv`c ikhw

igAw hY ik krzy 'qy ivAwj dr 6% hY[ 20

swlW bwAd bYNk qoN Bugqwn kIqI jwx vwlI

ku`l rkm dw pqw lgwE[

(xi) ABC ilimtyf ie`k auqpwd X dw auqpwdn

kdrw hY Aqy inrmwx EvrhY~f lwgq inrDwrq

krn leI lybr GMitAW dI vrqoN krdw hY[

Anumwinq inrmwx EvrhY~f rupey sI, 1,50,000

Aqy ies iv`c Swml Anumwinq lybr GMty

1,200 GMty sn[ ie`k pUrv-inrDwrq EvrhY~f

ryt dI gxnw kro[
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(xii) ie`k Kws kwrobwr rupey inrDwrq jW bjt dy

skdw hY[ Pys bu`k ivigAwpn leI[ `25,000

gUgl AYfvrtweIizMg leI `26,000 Aqy Swied

`13,000 tIvI Aqy ryfIE ieSiqhwrbwzI leI

ie`k swl dy ieSiqhwrbwzI bjt iv`c[ kMpnI

dI ieSiqhwrbwzI dI lwgq dw pqw lgwE[
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